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[ | afi= | mL ] | emild | mL DE4E
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M 2058 cii= ( 2058 ) mL @ 876cm= ( 876 ) mL

@® 408mL= ( 408 ) cn @ 56mL= ( 56 ) cn

B EINS<TD
[ 1L=1000ci | iLizicio 1000 &
L OBfI%E o ICEENABHL T,
X 1000 FHIELW
BEAECTS

[ | ci=0.001 L ] |l IL @ 1000 400 |
of DEMIE L ICBEDABLEIR,
X 0.001 £l + 1000 FHULLL

5060 cii= ( 5.06 )L
5060(cf)x0.001=5.06L  5060(cri)=+ | 000=5.06L

920 = ( 0.92 )L
920(cf)X0.001=0.92L  920(cr)~+ 1 000=920L

87000 cii= ( 87 )L
87000(crt)x0.001=87L  87000(cri)+1000=87L

0.609L= ( 609 ) cn
0.609 (L)X 1 000=609 crf

4L = ( 4000 ) cnm
4(L)x 1000=4000 or

35.2L= ( 35200 ) cn
35.2(L)x 1000=35200 c

© © ® © 0 O
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BAIZ/NILTS
[ | m=1000000 cni ] | i | cfiod 1000000 4
m OBEME i ICBEHNZIBLE,
X 1000 000 FHITL\W
BAERETS

[ 1ci=0.000001 m <’ izl mio> 1000000 401
o DBAIE M ISEENABLEIL,
X 0.000001 ZF£lx. + 1000000 FHuULL\

@M 6000000ci= ( 6 ) m
6000000(cit)X0.00000 | =6 ni

6000000(cni)=+1000000=6 m

@ 4030000ci= ( 4.03 ) m
4030000(cnt)x0.00000 | =4.03 nd

4030000(crf)+ | 000000=4.03 ni
@ 57100ci= ( 0.0571 ) m

57 100(cnf)x0.000001=0.057 | ni

57 100(ci)+ 1 000000=0.057 | ni

@ 0.285 m= ( 285000 ) cn
0.285(m )X | 000000=285000 cnf

® 3.8m= ( 3800000 ) cn
3.8(m )X 1 000000=3800000 crf

® 70m= ( 70000000 ) cf
70(m )X 1 000000=70000000 crt
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